Year 3 Maths Week Beginning 27th April 2020

Remember to use Mathletics every day and collect the certificates! You can also use Hit the Button or the Daily 10 to practise number bonds, times tables, doubles and halves – how fast can you do them?   Here are the links:
Hit the Button
Daily 10

Monday:  
LI:  To multiply by 2, 3, 4, 5 and 8
This is a picture of a function machine:
	Function	
Input			OutputX2

12
6





If I put 6 in the left hand side (this is the input) and put  x2 in the function box, then the output  will be 12 because 6 x 2 = 12. This can be shown in a table like this:
	Input
	Function
	Output

	6
	X2
	12



What would be the output if I have 6 in the input and x4 as the function?
	Input
	Function
	Output

	6
	x4
	


 
I can put any times table in the middle, such as x3 or x8.
If I put the input as 3 and the output is 12, what function must I have in the middle?  You need to work out: 
3 x ? = 12
	Input
	Function
	Output

	3
	x
	12



I’m sure you worked out that the function is x4.
Now answer these questions:
These are the inputs for a x3 function machine.  Can you fill in the missing numbers?  The first one has been done for you. 
	Input
	Function
	Output

	6
	x3
	18

	12
	
	

	8
	
	

	10
	
	

	7
	
	



Here are the Outputs for the x3 function machine.  Can you find the inputs?  The first one has been done for you.
	Input
	Function
	Output

	11
	x3
	33

	
	
	9

	
	
	24

	
	
	27

	
	
	15



Challenge:   Can you make a function machine for another times table?   Remember to put the input for some questions and the output for others. 

Tuesday
LI: To solve problems including multiplying and scaling.

Today you will need to use what you know about multiplication to solve problems.  
[image: ]

The picture shows a family of giants.  There is the baby, her big brother and her dad.  The big brother is 3x as big as the baby and the dad is 5x as big as the baby.  So, if the baby is 2m tall how tall is her brother?  He must be 2x3m tall so he is 6m tall.  How tall is her dad? He must be 2 x 5m tall so he is 10m tall.  
Use the interactive dice from nrich to get a number (remember to use the purple cog shape to set the dice to 0-9) .  Use this number as the height of the baby and then work out how tall her brother and her dad will be.  Do this 5 times using the dice to give you the height of the baby each time.  

Now answer these questions based on a different family.  The new family has Timmy, Helga and their mum.  Helga is twice as tall as Timmy and mum is 4x as tall as Timmy.  Timmy is the smallest.

If you just know Helga’s height, how can you work out Timmy’s height?
If you just know Helga’s height, how can you can you work out mum’s height? 
If you know mum’s height, can you work out Helga’s height without working out Timmy’s?
If Helga is 8m tall, how tall is Timmy?  How tall is mum?
Explain to someone at home how you worked out the answers.

Challenge: Have you mastered the times tables?
[image: ]
Wednesday
LI: To use known multiplication facts to work out other facts.

If I know the 3 times table, I can use this to work out the 30 times table.  Like this:
1x3=3		1x30=30
2x3=6		2x30=60

Write out the 3 and 30 times tables like I did.  Think about what happens.  Can you see a pattern? 
Can you do the same for the 4 and the 40 times tables? 
Look at these masks:
   [image: Bear Face Teddy - Free vector graphic on Pixabay]    [image: Monkey Face Happy - Free vector graphic on Pixabay]        [image: Head Circle Stripes - Free vector graphic on Pixabay]   [image: /var/folders/8s/dnjytpt57dxfs45fvtl7x6ch0064y2/T/com.microsoft.Word/Content.MSO/CEC17F3B.tmp]

The bear mask costs 20p. The monkey mask costs 40p.  The cat mask costs 30p and the dog mask costs 50p.  
Work out the cost for these masks:
3 bear masks =
5 monkey masks =
2 cat masks =
4 dog masks =
6 bear masks =
8 cat masks =
3 monkey masks =
7 dog masks =
Don’t forget to write the number sentence for each question.

Thursday
LI:  To solve problems involving multiplication and scaling

Can you use your knowledge of multiplication to solve these problems? 
Don’t forget to write the number sentences for each one and remember to read the questions carefully.
[image: ]


Challenge:  Make up some word problems of your own.  Write them out and solve them.  Can you make them be 2 step problems? 

Friday
LI: To solve word problems and puzzles

Can you solve these puzzles and problems? Use the pictures to help you.
[image: ]
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NC Objective: Solve positive integer scaling problems Fluency & precision 3

Answer the questions with bar models.
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Lily ate 5 cupcakes. Missy ate 3 times as many 1, Andrea has 7 seashells. Paula has 3 times as many
cupcakes as Lily. " seashells as Andrea.
How many cupcakes did Missy eat? " How many seashells does Paula have?

‘masterthecarriculum.co.uk




image8.png
NC objective: Solve problems, including missing number problems, involving multipication and division

Fluency & precision.

Complete the questions below.

Use the array to complete the number
sentences:

Use the array to complete the number
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Use <> or = to complete the question.
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Use <> or = to complete the question.
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Use <> or = to complete the question.

7x3

9x2 O 7x4

4x5

Use <> or = to complete the question.

2x8 3x5

5x8 O 10x4
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Complete the number sentences:

1x 10 < X
2x2 = +2
4 x5 > X

masterthecurriculum co uk

Complete the number sentences:

3x4>__ x

2x3 > + 2

6 x5 = X
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NC Objective: Solve correspondence problems in which n objects are connected to m objects

Fluency & precision

3

Answer the questions to match the pictures.

Kelly has 3 coloured circles
and 2 numbers. Complete
the table to show how

many different ways she
could do if she wants to
pair a colour and a
number.

25 32

short pants.
Complete the table to
show how many different
outfits he can make.

Colours | Numbers
Green 25
Purple 25

Red 25

Daisy has 2 shape cards and 2 number cards.

She chooses a shape card and a number card.
List all the possible ways she could do this.

Shirts Shorts
Green Green
Green Brown
Green Blue

Andrew has 2 drinks and
3 foods. Complete the
table to show how many
different snacks he can
eat.

- g
s

s 2

Foods Drinks
Pizza Juice
Sandwich Juice
Hamburger Juice

Ella has 2 shape cards and 3 number cards.

QIOIE

\ 2

g

She chooses a shape card and a number card.
List all the possible ways she could do this.

Nate has 3 letter cards and 2 number cards.

AejuEE

He chooses a letter card and a number card.
List all the possible ways he could do this.
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Have you mastered the 2, 3, 4, 5, 8 and 10 times-tables?

a) Solve these multiplications and divisions.
ax3=[] 6x8=[] 8x4=[]
[(Jx5=45 [(x4=28 [(x8=24
55:5=] 18:2=[] 80:8=[]

b)  Write two multiplications and two divisions using the numbers

3, 8 and 24.
c)  Write as many different multiplications as you can with an
answer of 40. o'
[(Ix[]=40 i

/e a

£ — —

Champions’ Challenge
Work out the missing numbers.
. [Ix2x3=24 2. 5x[_]=50=:2 3. 4x3=48:[]





